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- NIXDIR N2ARR TNRY AR R 92 9501 929
Rabi Yosee Bar Chaninoh said, she died because of tiredness

Overview'

n"27 explains that in the X217 he is 217 in a case where the donkey died because it
overexerted itself. MdoIN will explain the various opinions especially in regards to
the ruling concerning 01182 19107 77Y°w52 NN,

= NANY1I NNNN DYV
X1¥21X means that the donkey became weary on account of the work.

mdoIN responds to an anticipated difficulty:
- 290 NPYY ) 0PN JIN 299891 nnm NNt 23 Y Ny

And even though it died on account of the work, and the rule is that a 792w or a
DRI are [wp], if it was 7OK?n N Nk, so why here is he 21 if the donkey died

7oK1 niann, nevertheless, here he is 29°m, since he changed from what was agreed
upon -

- OV N0 7PN ORY GWAN 913 NIMINY 1D 1Y ONY
For if he was supposed to take her in the mountain, it is possible that if he

would have taken the donkey there (to the mountain, instead of taking her to the valley) -
= DY VIIVY NN IN HNNN NYIHN NNN XY

She would not have become weary, because of the air and the wind which

prevails there (as opposed to the valley where the weather is different) -
= 913995 DY NNV PRY 297 DY NYIINN NN XD NYPA NIDINY I NN ONIN

Or if he was supposed to take her in the valley, she would not have been
wearied there, for it is not as difficult working in the valley as it is in the

mountain -
- 29109 DN 19YD) NYIWDA INTINN YINRT JNDY 1PN 2950 997

So therefore he is 35’1 even according to the one who maintains K''2093mn
WD,

nooIn asks:
= 9NN 12 PN 129290 NYP YN NYIINY 1D 9INT Na9 by TN

!'See ‘Overview’ to T 11"7 'o1n.
% The n"a7 Mt amends this to read 25 M9 73897 (instead of 231 1OXYN).
? In these aforementioned cases (where it was RIX2IX nnnm 70R) it is A¥°wH2 1O (not DX 19IV), as MdOIN just
explained. See previous 11"7 '01n 132 [TIE by footnote # 3].
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However, the 22" has a difficulty’ with 729 who explained that the xw™,

which states 27’11, is in a case where for instance a snake bit the donkey -
= PYP) NYPA VPINIY XN NN ) Y3NT NYPIY 9N NYTPTD VP INNIN

Why, according to 7127 does the 71w» mention 97 and nypa, for it could have

just as well mentioned myp2y 7Ypa -
- DY 159990 NPYY NYPAL 01N DIUNI NEMIY "7 DN

If it was known that there are snakes in the valley to where he changed and

took her there -
- Snypab nypan S0V AYPAY 9NN MNNVAY NPYP IND TV NI4T

For regarding this problem of snakes there is no greater difference from a
mountain to a valley, than there is from one valley to another valley.

N1B0IN answers:
- 72551 DN 191D) NYIWHA INTINN NOY NINT N3AYVY NAYT PN 13929 VIN)

And the >''1 answered that 7729 follows his ruling, for he maintains X''29v921n
is 2% -
= (DY) 2,08 77 )1PY) su’bvmn NN 9IVN P99 9102 yHRYNT
As it seems in the end of 2°9¥1577 IR 27 P9 regarding the shepherd. We can know
this -
= NI DIND 191D) NPV INDINN NV ININ AN 1Y 799
Since 72X challenged 727 there; ‘why is he 91up, it is R''201221N. This proves that

727 maintains X"2019210 is 217 for otherwise what is **aX asking on 7727!
= PP 91 VP 9NYT V9V INN ROVM)

And now (that we have established that 727 maintains 21 X"21019210) it is
properly understood why the 71w» mentions f7¥233 977 (instead of 9m 77) -

* This question on 7721 is in continuation to that which 210 explained previously 113 772 [TIE footnote # 7].
> mooin previously 1130 71"72 (regarding the 2 of X nan») explained that he is 21 only if it was known that the
weather is different in the 777 than in the 7¥p2 (for then it is 7¥°w51 1910 [so he will be 21 even according to the 7"n
that 7o X"201921n]). We must therefore presume that in this answer of 727 (that wni nw°27) it was also known that
there are snakes in the place where he took the 71 (disregarding the instructions agreed upon), for if it was not
known, it should be considered 011X2 1910 since snakes are not specifically prevalent there.
% Regarding 1"X nnnn we understand why the 73wn stated 7pa? 9an since a change of weather is more common 372
7ypa% than 7% Tnn, ete. (and the same regarding Rix2w). However, regarding the prevalence of snakes, they are
found both 7712 and n¥p23 equally, so the 1wn could have made this case where he told him to go to one 7¥p2 (where
there were no snakes), but he went to another 7¥p2 (where it was known that there are snakes). Why does the r1wn
state 7vpPa% An?! See 130 1"71in TIE footnote # 9.
7 Therefore it is not necessary to assume that snakes were known to be there (not as was assumed in footnote # 5).
We can assume that it was not known that there were snakes where he actually went, so it is 01182 1910 (a snake bite
is not common), but nevertheless he is 21 since it was 7¥°ws2 120,
¥ See previously mami 1" 7102, where this was mentioned. [TIE (text by) footnote # 7.]
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- Tm9M9m) NNRMN 1YY AYIWEA ININD N XHYAT DIVN
Because now (by yp21 77) it is 7y wsa wn»onn regarding 7amn (by nypab qn), or

HP5H1H (by 2n% 1wp2), therefore even though it is 011R2 1910, nevertheless he is 277 -
= YV INTINN NIDT NIV NN NYPAY NYPAN NIPY DN DaN

However if he changed nypa® nypan he would be = for there is no n%nn

AYIDA (and snakes are considered 01X for they are prevalent everywhere equally).

mooIn discusses an anticipated difficulty:
- 1INNY N1 29IRT NaIN 7299 (awr 8, 97 Nnp xa2) ©II1DN YWY

And in the beginning of ©11277 P75, where the X713 challenges 729 who said, that

the ruling of the 71wn is valid only if the animal burrowed and toppled the wall. The
X3 there asked -
- M0 Zp3xa 1919) NYIWOA INYINN INT INPY XAIN

‘s'127 ruling (that if 7707 he is Mwo) is justified according to the one who

maintains 21%9 X''a919a1n0 -
= 910999 NN AN/ 299N 9INT INND NON

However according to the 7''» that X"20192r0 is 3991, what can we say’; why is he
MWD by 7707 since it is "YW N>nn?! This concludes the citation from that X7m3. Moo

continues with the question -
- %1249 9757903 093 oK 2590 9N 195 HOINT NA9TIN 19T 7999129 9813 N

The X773 there could have posed a contradiction from 739 there (who seemingly
maintains MW X"201921N [otherwise how can he justify his ruling that 730 is
T119]) to 721 here who maintains 2°°n X"2012nn." This would be a valid question
if the text in both places reads 712",

? Based on that which n901n mentioned previously 7nmi 71"72 [TIE text by footnote # 2] that even according to the
21 X"20102n0 7"7 that is only if somehow the n7%°nna ny°wo contributed to the damage 013, it will be necessary to
say that had he gone to the place which they agreed upon, it is possible that there would not have been a snake there,
however since he went elsewhere therefore she was bit by a snake (see X"wn).
19 327 is referencing the 73wn (on 2,71) which states that if 72772 73791 (the wall of the stable was breached at night)
and the animal escaped and did damage, the owner is Mvd from paying damages. 7127 qualified that this ruling is
valid only if the animal caused the wall to be toppled, otherwise he is 2’11 because (presumably) it was a faulty wall.
'" The X there assumes that the ruling of 727 (that by 7707 he is M5 and by 790 &Y he is 27) is by a weak wall
that may collapse at any time.
"2 This is a case of 7v"wd2 N>1n for he placed his animal in a stable with faulty walls, however it is 0282 1210 since
in actuality the walls collapsed only because 701 (which is unusual).
"> mooin is pointing out that since we are assuming here that our X310 is a case of X"20122nn and therefore he is 271
by wm1 7w 5;1; proving that 727 maintains (here) 21 X"2019210.
' There is the possibility that in one of these places the X073 is X127, therefore there would be no contradiction.
"> mooin does not explain why indeed the X3 did not pose this contradiction. However according to the conclusion
of M»doIN, this will be understood.
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mooIn concludes:
= %99 N1 %Y N N lsmbn annT X299 099290 NINY PPNAY OINININ N Yo v

So now we must assume that all these '8y, which are coming to answer
why in the X1 he is 211 (even if it was not 7nmin or 7p2min), they all agree with

x27, who maintains that we can argue 8357 9 7 N1 893, ete.”’
= 993V 21 INDA 1PNINN POV INN NHLP NNINT NYAN 9INT »ANDT

For according to >°a8, who argues with X217 and maintains he is 21 for we
assume that the (fetid) air of the marsh killed it, our m1w» will be properly

understood without all these answers of the aforementioned 2°R7I1MX -
- ﬁb\?‘p OV N9991Y NN NIND 9INRT N9979 1510 199N 291

For he will be 2°°11 even if it died naturally, for we will say the air of the place

to where he led her, killed her -
= 9NN RN 99 Y ¥9 PIN NN NIOY W7 PRY 29 Uy 9N

Even if it is not known that this air is at all worse than any other air —

Mmoo responds to an anticipated difficulty:21
- 2annT Pnynva N9 MR MY 93 1910 NI RPINT XYAN VD) NPT INDT

For when »aX mentioned NX»ix7 X927 it was not limited to X2X7 X927
exclusively, for the same rule will apply to any change of air as is evident in the
X3 there.

mMooIn responds to an anticipated difficulty:
=290 NYPAL HNRMNY N2 NPINN XIPDA VPIT NM

' This conclusion is based on the assumption that 7wpaa 72°93M 972 7°17% or the reverse, is a case of 7Y°w92 NN
(regarding 7nmin or ApYMIN).
7 [See previous 7 1"7 'own (TIE by footnote # 6).] X271 maintains (2,07 2°¥?) that if the W was Ywd by not
watching the animal (which is 73°w52 1n%°1n), and it went to a marsh and died (01182 1910) that he is 79, (even if we
maintain 21 X"2010210), since the N7 T892 would have killed it wherever it was.
'8 This means it makes no difference to the N 782 whether the cow is in the barn or in the marsh; it would die in
any case.
' This refers to 737 " AR X2 17,727,807 72 001 M ,OR M 0T
% Since they agree with X217 (who maintains 131 X271 *2 7 M7 891), they need to find an explanation why he is 2n
in the w1 (for even though he was 1vpa? 2 mwn, nevertheless); we should say 191 nmni 8. It is no different
from 0ax? 178%™ 72 ywo where he is w9 according to X21.
*! Seemingly *ax only said X7bp X23&7 8927 (perhaps because a marsh is known to have fetid air), so how can we use
this argument to say that any (other) air caused her death.
22 The n"a;7 M amends this to read X177 X»RT (instead of X177 XAIRT).
> See the x°310 there on 2,72 where Xnn 72 *27 asked from the case where he brought the animal up to the peak of a
mountain that if she died 713773 he is "9; but why, let us say 72vp 277 XX, We see that it is not only X287 X727
(See also X 1"7TIN2 ®,12.)
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And this which the 71w» mentions in the X2°0 that if it was 272 7p»m7 or M

mwpaa, he is 2997, indicating that if it merely died (without AP?m: or 7M7) he would be s,

this is in contradiction to what '01n said according to »2X, therefore we must say -

- DYV INTINN MHNT 11D N7 NN PTH NN
That the same rule applies even if it died naturally, since it was 7y>ws2 \n%nn,
he is 2’11, because we can blame it on the change of the air, so the question remains why did the

mwn state that he is 2°1 (only) if it is 7P2mM7 or mAMIR?!
- 99095 YL N3 NN DN 22 5Y IN 1IMPYN Anmn san 901 990937 BIUN NIN

Rather we must say that since by the =112 of the 977, the mwn states inamn,
therefore the mwn wished to inform us that even though overheating in the

mountain is a reason to exempt him, nevertheless -
- N2PNY RNYV 1D NN KIN 9973 90990 XY Nypaa

In the valley he is not exempted if it was 7m7 (and he was supposed to take it
1712), rather on the contrary, 7M7 in a VP2 is a reason to be 2%,

nvoIn asks:
= 29N D997 NNN IPANRT NYIINI NPT 199910YW NN 9NN ON)

And if you will say; but we can know this (that 7vpaa 7m7 and 272 p>mMi is

2°1) from the Xws9, for since even if she died naturally he is liable (this is what

we know from the X1 [according to »2R]) -
= YPA2 09N 9N APYMN PIYD YW INIINN MNNT DIVN

Because it is 7¥°ws2 10 nn regarding apvm7 in the mountain or 72m7 in the
valley (if he changed its destination), so -

- a%n17 NYpat 1M 90T NPYNN 1YY ANNPYI 19V Y5
So he is certainly 217 if she died through =772 7p%m7 or AYPa2 A%MIA, so why is
the entire X9°0 of 21 YP22 MMM T2 APYMIT, necessary at all?!

mDoIN answers
- NOYDA 1IPYNYUN IND INT 912990 W
And one can say; that if the 71w»n would not have informed us in the X2°0 that

272 ApPma and AYRA2 mHMT is a mYwD -
= 19979 NNNA IYAN 13NY NYIVWOL NNIINH XYWIIa N 2IUN ININ 197> D NY

2 In this case (of 772 nmA) he is 7WH even according to ™Y, because we cannot say she died because of the ™K,
when we know she died because of the heat, and therefore she certainly would have died nyp23.
 One might have thought that since the 71wn teaches us that 7772 7m7 is Mw, this means that the rule of »ax (that
TPuR RMART X9277) is only when it died naturally but not by mnmi even avpaa (if it was navypaa 72°91m An2 79),
therefore the m1wn teaches us that 7¥paa M7 is 21 (even more than 712772 7n7).
% Once we know from the X7 that by changing the destination it is 7¥°w92 1n2°nn, so certainly in the cases of
972 ApPMIA or AYR22 M where it is also nY°wo1 1010, that he is definitely 2.
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We would not have known why in the X" is it considered 7y ws2 0% nn (just
because he changed the destination) so that he should be liable if it died
naturally.”’

ndOIN asks:
- Fma15 50N 29097 NIDT OINININD Y91 2PN299) 9aND DN

And if you will say, and according to 829 and all the 2°%7X here, who exempt

him, by 297> 7nn -
- MVOT AYPAA NPIMT N2 NN NOYDA 2N INNIN

Why does the 71wn state in the X5°0 that he is wp if 7PPa3 IPOAN 972 AT -
- A5OP RINNK NINNT RN KD RIT NVOT 19979 ANN 59V JNMNVUNRY 1YY »"A

The 71wn should have informed us of a greater novelty that even by 172972 nn»

he is mup; that we do not assume that the air of that place Kkilled her (as »ax

maintains), so therefore -
-, 12332 NN NNN NPY R IPIN IRNT NYPAL NPININIY 9Na NNPMN 1w Yo

He is certainly 7109 if =72 mam7 or mypaa mpbm, for if he would not have

changed the destination she certainly would have died in this manner (by mnmn
Ypa3 and Y72 ARbmM)?!

N1B0IN answers:
- 2 hypat X91093 593 1Y %N APIMN 3N 1T NIPNAT DIVNT MY Y

And one can say; that since by the 2:72 21 the mawn taught sp9m:7, therefore the
mwn also taught p%m7 by the 29ws of PP (to make the 7awn symmetrical).

moon offers an alternate answer:
= 112972 NHNN Y9V NMAY "N NYPaa npbmm 92 09909 XRMIVIT NN TIM

T If not for the x2°0 we would have to search for reasons why he is 21 in the Xw™ (perhaps we would use the
answers which the 2°R71mKR gave [121 RI¥2R ,777 X77KR], but we would not know the X111 821 of 7amm apomIn [in a
7vp21 17]). We may therefore have thought that the ruling would be the same by a 7 nvpa regardless whether it was
7P%mn or inmi. However now we know that 1772 pmi and 7vpaa 7nmi is the nvswo.
8 X271 maintains on7 % 77 X7 *D [ MINA TRIN.
* They all require special circumstances to be 2m in the X (like XIX2X ,177 X1"X); otherwise he is Mwd (because
ana b 3n RO I NIng IRYR).
% When she died 719772 we can argue that the change of the air caused her death, and if there would have been no
change she would not have died, but now that we say that even 173773 %2 he is M9, so if it was 772 7%m7 (which is
unusual) he is surely Mwd, for if he would gone to the 7vp2 as agreed upon, she certainly would have been nnmi7 and
died!
*! However, indeed it would have been a greater w17n if the 73w» taught the 7109 by 79775 7in» (and we would have
known with a w"> the 715 of 172 7mM7 and 7vp2a2 AR,
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And furthermore it seems, that the exemption from paying by =72 2wmn or

7Ypaa pom, is a greater novelty than the 1o by 719972 0% -
= APVYY NN YYAY 99915 19 1IN N15995 NNNN 9N 29V N3 9IY D15 DINT

For a person can be more careful to avoid 7vp22 7p>minm 272 01»°n, more than he
can prevent 712972 11n%, so we should have assumed that he was negligent in that

he changed the destination -
- 195 NIYY NDY TP NN N2 N9 NN ONY

For if he would have taken her to the mountain (or to the valley) as agreed upon

he would be very careful and watch her properly -
- Zoqme X9YW 0993 NPYY N1 YIN NP DRNHN XYY 102 PTHN KYY

That she should not either slip on the mountain or overheat in the valley, but

now that he changed the destination, this caused that he was not careful and
therefore he should be 2°°1, so the 71wn teaches us that nevertheless he is M.

Up to this point Md0IN assumes that 7YPa2 72771 772 712°717% (or vice versa) is considered n%°nn
7y wo1, and therefore according to »aX he will be 21 if 71w even if 75775 7nn. Now mooin will

reject this assumption.
- PoINanaND Y3 Yy AN PITNIY I PNIT 1NN

However, it is implausible that 3528 should argue on all the 258712R.

mooIn recants from his previous position:
- %apwY Nna NYYS NN YN KT N9 195

Therefore it seems that here it is not considered ;y°wsa wn»nn because he

changed the destination. It is not a 7y°w» -
= NYPAI DHRNNN XIWI 9N PITNN ROV N PIPTI ANY D11

Because he can be careful and very precise to assure that she will not slip on

the mountain and not be overheated in the valley -
= YV INTINN NN NDT 1123 N7 NHNA 9VIT XN AN N1I)

So »ax will agree here that he is =12 if 75975 71 since it is not 7¥°"ws2 n>nn
when he was supposed to go 772 and went 7¥22 (or vice versa) —

32 Let us assume the case where he was to take her in the valley (where it is hot); if he would have taken her in the
valley he would be careful to see that she does not overheat, since this is prone to happen in the valley. The fact is
that he took her to the mountain, and he assumed that here I do not have to be careful that it should not overheat, for
this is the mountain (and the owner even agreed for me to take it in the valley and was not concerned for
overheating, so there is no need to be careful in the mountain. One may have thought that he should be 21 (more
than 719772 finn [which is 7)), the mawn teaches that nevertheless he is 7w even by 7ypaa ap>MM 172 mAMs.
3 All the 2°x1% mentioned here maintain that the reason he is 27 in the Xw™ is because of special circumstances,
when according to »ax (as we understood till now) he will be 211 even if 73775 7nn since it is AY*W52 AN>nN.
* See “Thinking it over’.
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mMdoIN responds to an anticipated difficulty:>
=YUN) NYINY )2 NYUNT NaM

And 77129 who explained the X7 is in a case where for instance a snake bit her -
- 7 nyma1 90 05 9979 KI9IN IN *NYpaan 03903 DIUNI DNEM DINYIY Y P8

It will be necessary to say that occasionally snakes are found more often in the
mountains that in the valley, or sometimes it is the reverse, therefore he

mentions 7YpaY 7 -
$9109 DN 1990 NPV INTINN 1TAN D299 929V NN

And the 71wn would be properly understood according to 729 even if he

maintains that T X''201921N because here it is 7y°wo2 10, for we can argue that the
snakes were more prevalent in the place where he went.

Summary
Changing from 977 to 1vp2 (or the reverse) is not considered ny°wn2a n>°nn.

Thinking it over
nooIn concludes that 7vpa2 72°737 772 7299135 (or the reverse) is not considered

Avwoa o nn.”® Why is it then that if 972 79°917% 19w and he took her ;7% and
7P, he is Mo, but if AP 772 79991 VP22 72°717% 7790w he is 2°1? What is
the difference between these two cases, since there was no 7v°wd here?!*

* moon asked previously (see footnote # 4), according to 7127, who established the Xw™ in a case of wm w27, why
does the mwn state 7vpa? 2 (or vice versa) it could state even n¥pa%? aYPan or 177 7n, since (according to MHOIN
[see also 132 7"7n) he is 217 only if it is known that there are 0°wn1 in the other place. m»oIn initially assumed that
own1 are not more frequent either 772 or A¥pP22. Previously mooin answered that since 7127 maintains 21 X"21019210,
therefore he is 211 even if it was not known that there were 0°wni in the other place. 7¥p21 771 were mentioned to
make it a case of X"20wann regarding 7p>mm 7M. However, now that noown concluded that 7vpa1 77 are not
considered 7v°w2 121N, we seemingly have to say that it was known that 2°wn are to be found in the other place,
so the question remains why mention 77922 27, when it could have been even 7% 371 or 7vpa? nvpan.
3% mpon is recanting from what he previously stated (see footnote # 6 and 34) that there is no reason to assume that
snakes are more prevalent either in a 777 or a n¥p2. However here N1901n maintains that we will need to assume that
sometimes snakes are more prevalent either in a 777 or a yp2.
7 We still maintain that it was not specifically known that there were snakes in the other place, rather he is 27n
because there is that possibility that snakes were more prevalent in the place where he went than in the place were he
was supposed to go.
* See footnote # 34.
* See TN w9 XN # 100-102.
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